: —
SCOPE OF WORK — =

REMOVAL OF EXISTING FUEL SYSTEM L g :
“SASPHALT

1) DISCONNECT POWER (LOCKOUT/TAGOUT) TO EXISTING FUEL SYSTEM.

2) DRAIN PRODUCT LINES BACK TO THE UNDERGROUND TANKS.

3) SAW—CUT & BREAK—OUT CONCRETE OVER TANKS TO REMOVE EXISTIN
STP SUMPS & PIPING.

4) CUT, CLEAN, AND GAS FREE THREE (3) 6,000 GALLON STEEL GAS TAKS
B FOR ABANDONMENT IN PLACE AND REMOVE ONE (1) 8,000 GALLON
STEEL DIESEL TANK.

5) DISPOSE OF ONE (1) DIESEL TANK.

NEW FUEL TANK INSTALLATION

1) EXCAVATE APPROXIMATELY 60’ X 20" X 14’ AREA.
2) INSTALL ONE (1) 15,000 GAL TANK, ONE (1) 12,000 GAL TANK
AND ONE 8,000 GAL TANK.

3) INSTALL TANKS PER MANUFACTURE SPECIFICATIONS.
4) INSTALL THREE (3) DOUBLE WALL SPILL CONTAINERS AND TWO (2) -

SINGLE WALL CONTAINERS ( VAPOR RECOVERY). :
5) BACKFILL PER MANUFACTURE SPECIFICATION.
1 CONC. a

6) INSTALL ALL REQUIRED EQUIPMENT TO MEET ALL LOCAL, STATE (FDEP),
FEDERAL AND NFPA REQUIREMENTS.

F 7) FOR ANCHORING METHOD SEE DWG. 403—T-001 & 002.

FUEL PIPING AND DISPENSER INSTALLATON o | U

1) INSTALL NEW 2" AMERON LCX DOUBLE WALL PRODUCT LINES.
2) INSTALL THREE (3) WATER TIGHT PIPING SUMPS.

3) INSTALL SIX (6) DISPENSER SUMPS. COVERD
4) INSTALL NEW 2" AMERON FIBERGLASS SINGLE WALL VENT LINE. AREA
5) INSTALL AND PAINT NEW 2" GALVANIZED VENT RISER.

6) INSTALL NEW AMERON LCX DOUBLE WALL PRODUCT LINES FOR
FUTURE GAS DISPENSERS.

ONE STORY

COMMERICAL

FELECTRICAL WORK BUILDING

E 1) REINSTALL 34" CONDUIT AND WIRING FRON EXISTING ELECTRICAL PANELO THREE (3) METAL GASOLINE FUTURE

REVISIONS:

ASPHALT

FUEL DISPENSER
AREA

" DIESEL
DISPENSER

NEW 12,000 GAL
FUEL TANK

ASPHALT

'.' VENTS

PCC056538

ASPHALT

813—-677-7803
CGC1509998 CFC1427303 ECI3003265 CMC056821

7001 GIBSONTON DR.
GIBSONTON, FL 33534

NEW 8.000 PREMIUM
FUEL TANK

1 J5 HP FE PETRO SUBMERSIBLES. COOLER DISPENSER DISPENSER
°"/

¢ 2) REINSTALL %" CONDUIT AND WIRING FOR THREE (3) MAG PROBES.
3) REINSTALL %" CONDUIT AND WIRING FOR THREE (3) INTERSTITAL SENS(S AND

THREE (3) PIPE SUMP SENSORS. C\
rIT. CONC. ;

4) INSTALL E—-STOP ON BUILDING.
5) SECURE AND TEST ALL ELECTRICAL EQUIPMENT BEFORE START-UP.
| CONC. ’ \

DISPENSING EQUIPMENT

1) REINSTALL FOUR (4) EXISTING DISPENSERS.

MONITORING

1) INSTALL THREE (3) MAG PROBES.

2) INSTALL THREE (3) SUMP SENSORS. Z’ D

3) INSTALL THREE (3) INTERSTITAL SENSORS. GASOLINE

DISPENSER FUTURE
DISPENSER

4) INSTALL ONE (1) VEEDER ROOT 350 PLUS CONSOLE.

NEW 15.000 UNLEADED
FUEL TANK

;08631

r
N

FUEL
DISPENSER
AREA

P.E. #55067

CANOPY LINE
RENNA ENTERPRISES, INC.

CONSULTING ENGINEERS
LAKELAND, FL 33811

AUTH. #
3231 DRANE FIELD RD.

ASPHALT

CANOPY LINE

ASPHALT

CONCRETE /PAVING o

1) POUR APPROXIMATELY 62’ X 15" X 8" CONCRETE TANK MAT WITH 4,000°S|
REINFORCED CONCRETE USING 6” X 6" %o WIRE MESH. o
2) REPLACE ALL DISTURBED BLACK TOP AND CONCRETE FOR TANK AND PRDUCT LINE
REPLACEMENT. ;

\
1) THIRD PARTY PRECISION TEST TANKS AND PRODUCT LINES UPON COMPITICM. 755~ 755~ 55~ b Dy
——ie A5~ i e A4~ P \\ 4 A\ ‘&
GENERAL NOTES :
FUEL INSTALLATION - P

L
oy

7

PREPARED FOR:
JOY AMERICA
205 S HOOVER STREET

SUPBRTEST

JOY FOOD STORE
TAMPA, FL 33609

3554 U.S. HWY. 441

yya
77 rrya
77

LAKE CITY, FL.32055
GENERAL ARRANGEMENT

NP

1. ALL WORK SHALL COMPLY WITH NFPA #70 2002 EDITION, _ — ‘
NFPA #70A 2002 EDITION, NFPA #30 2000 EDITION, 2 LBl . L a o eaRa REE  aee—— :
NFPA #30A 2000 EDITION OF THE STANDARD FIRE PREVENTION CODE. . LSRR R el SRR E SR T O EEERERE e —
ALL WORK SHALL COMPLY WITH COLUMBIA COUNTY FIRE JURISDICTION CCES. | I ¢ e . R TEREE

3. CONTRACTOR SHALL VERIFY DIMENSIONS ON PLANS PRIOR TO BEGINNING XCAVATION, / i S I R | V A PR N ¢ T o T - S

REMOVAL & INSTALLATION PROCEDURES. VERIFY LOCATIONS OF ALL UTILIZS PRIOR TO
EXCAVATION. CONTRACTOR SHALL CONTACT LOCAL ENVIRONMENTAL HEA'H DEPARTMENT
PRIOR TO MOBILIZATION.

4. SHOULD DE—WATERING BE NECESSARY, A PRODUCT RECOVERY SYSTEM ShLL BE UTILIZED
PRIOR TO THE DISCHARGE OF ANY WATER WITHIN THE RIGHT—OF—WAY. LCAL AGENCY
STORMWATER MANAGEMENT DEPARTMENT SHALL BE NOTIFIED 24 HOURS Il ADVANCE OF INITIATING

ANY DE—WATERING PROCEDURES.
PROJECT NO. 403

5. CLOSURE SHALL BE CONDUCTED IN ACCORDANCE WITH LOCAL, STATE, & EDERAL REGULATIONS
& INDUSTRY ACCEPTED GUIDELINES FOR THE SPECIFIED WORK.
ACAD FILE:  403g001.DWG

6. CONCRETE DESIGN SHALL CONFORM TO MINIMUM 4,000 PSI OR STRENGTH
SHOWN ON DRAWINGS AS DETAILED.
DRAWN BY: DM

7 ALL ELECTRICAL WORK PERFORMED SHALL BE IN ACCORDANCE WITH LATET EDITION OF NATIONAL
ELECTRICAL CODE & ALL APPLICABLE LOCAL ELECTRICAL CODES. . :
8. ALL WORK SHALL COMPLY WITH COLUMBIA COUNTY CODES FOR MECHANICL WORK. THIS PLAN WAS DERIVED FROM SURVEY PLAN BY CHKD BY:  DL/MC
RONALD LEE GGODMAN SURVEYING & MAPPING
17921 CROOKED LN
LUTZ, FL 33548
PHONE 813—321—7372 DATE: 12/6,/2009

REVISION:

SCALE‘: 3/32n=1v_0n

G:\CT EARLE — 342\342-0901 — DESIGN AND DRAFTING SERVICES\CUWRKDIR\Joy food\403g001.dwg December 23, 2009 12:56 PM By:Dan.MilIer

bwe. No. 403—G—001

R

(VOO S OET I



) . COLUMN
28 MTst /w/ 3/4” THICK BASE PLATE

. : !
\ INSTALLED BY McGEE CORFORATION
(8) 1”8 HEADED ANCHOR BOLTS
/ FURNISHED BY McGEE CORPORATION
AND INSTALLED BY G.C.
POUR CONCRETE SLAB DOWN
) TO TOP OF FOOTING
o
. SEE ANCHOR BOLT NUT
i TIGHTENING PROCEDURE WHEN
SETTING COLUMN SEE GENERIL
" DETAIL F1 or F2 DETAIL F1 or F2 DETAIL Fi or F2 | ey NOTE A1\
DETAIL BCS DETAIL BCS DETAIL BCS 28 MTN28 k : : IR .-% \
. 7 ~ ' COLUMN =I5 %2 o ., - .
’*/ i > = b e (88) 1" HEADED ANCHOR BOLTS — / w/ 3/4” THICK BASE PLATE 1 P RO = jo
\ \iii\\ el ! )13 ATURNISHED BY McGEE CORPORATION INSTALLED BY McGEE CORPORATION < S ¥ ‘7/\\/\%\///\\\///@/\\\//@}//\\% o 3
\ o ‘\g_/g \ : _—/)"‘“\( Sl o N AR TSI & POUR CONCRETE SLAB DOWN 3 » R
\ 1/ N\ & _ €3 s o 0|/ TO TOP OF FOOTING - g//\\\@//
Sy SEE_ANCHOR BOLT NUT / = : | NoOF
WHEN m —
SETTING COLUMN | agETEGS:‘ERAL \ ; £13 0
5 R 0 | N\
| A T TS P E R S o =B oo on ) B .
P R [ RGN IR a7 | . T|Z.~ CONCRETE FOOTING - 2% b
3 XX R WX NDONRINRD < 20 W|EZC  WITH STEEL REINFORCING bl i -
3 N IR O = s BOTH WAYS TOP
= T AN QKK 5| [ i
g E OO wle ~|Cm < 20 & BOTTOM
\ s =iz ST = B (= /’\4/\{‘/»\ (SQ.)
_ / % E % o~ \ )//\\ ///\\ //>\ o L4 . * . - . @ - 1 n_:;
B o >, #4 ROUND TES 2/\\\//\\\/\?\\\ ©l ©
T A\ 812" C—C MAX : R
Bl gy Y% SPACING T NOTE.: R
513 |83 WTH STEEL REINFO e /;>\ (12) & CONCRETE FOR FOUNDATIONS SHALL BE POURED \{\\{&//\ S =
: " . 9 Sy 12'=2 1/2" QG WN|EGT WTH STEEL REINFORCING 1 pp & 12) #6 VERTICAL XX =
4-21/2" | 19'-0 - il —_ 4 Sle 3963 (BY 6C) 10710 EQ. SPACED ON CONTINUOUSLY CREATING A MONOLITHIC FOOTING. Sl L
= | = &|Bx - & 20" A A 48" DIA. CONSTRUCTION JOINTS ARE NOT PERMITTED. EQUAL | EQUAL
© = Z—0 SN
il \/\\‘//\<///’\\‘ (SF.) - 4v_0n SQ
.- IO T .
545 E K o[ 3
- (FASCIA) /Q\\//<\>//\\\//<\\ N
R L DETAIL /F1\
NS - REV. 01/22/03 S
FOUNDATION PLAN . - s \ — )
ALL DIAGONAL DIMENSIONS SHOWN ARE GIVEN TO CL OF COMN
CONCRETE FOR FOUNDATI HALL BE POUR EQUAL EQUAL
CONTINUQUSLY CREATING C.EIOANsMgNOUng Fog'ngg' |
@ REV. 01/22/03 U
VA /—16”¢
ANCHOR BOLT NUT TIGHNING PROCEDURE: GUSSETS ONLY ' P TETT
SET AND PLUMB THE COLUMIPER AISC ERECTION PROVISIONS, WITH DOUBLE NUTS ON THE : AS REQ'D 72 ONEE SIDE ONLY
REQUIRED NUMBER OF ANCHR BOLTS. THE BOTTOM NUT SHALL HAVE A FLAT WASHER BETWEEN /
LEGEND THE BOTTOM OF BASEPLATEND THE TOP OF THE NUT. THE TOP NUT SHALL HAVE A WASHER i ah Pl G E N E RAL N OTES :
BETWEEN THE TOP OF BASERTE AND THE BOTTOM OF THE NUT. AFTER THE COLUMN y i |
F.G.= FINISHED  GRADE J(DRIVE: SLAB AT COL N1E TOP NUT TO A SNUG TIGHT CONDITION WITH TOP OF THE 3/4"x24"x24" _/
F.F.= FINISHED FLOOR : ) Eég&ﬁg ;LUULTg%r-Tg;rTgF MAN ON A WRENCH) BASE PLATE |) ERECTION OF STEEL STRUCTURE SHALL BE PERFORMED BASIC SEISMIC - FORCE - RESISTING SYSTEM -
B.B.P.= BOTTOM OF BASE PLATE ' PER ALL AMERICAN INSTITUTE OF STEEL CONSTRUCTION (AISC) INVERTED PENDULUM SYSTEM
T.0.l.= TOP OF ISLAND TONUT & WASHER 0" 10" 1-1/2" D pjamM HOLES ERECTION PROVISIONS. CANTILEVERED COLUMN SYSTEM i
T.0.F.= TOP OF FOOTING / 1 /' FOR 1" AlANCHOR RODS 2) ALL CONCRETE WORK SHALL BE PERFORMED IN ACCORDANCE Response Modification Coefficient - R = 2 1/2
. WITH ACI "BUILDING CODE REQUIREMENTS FOR System Overstrength Factor - Qo = 2
— ) REINFORCED CONCRETE", (ACI 31 8-05). ALL CONCRETE Deflection Amplification Factor - Cd = 2 1/2
HIGH POINT UNDER CANOPY — SHALL HAVE A MINIMUM COMPRESSIVE STRENGTH AT
T0P OF BUILDING \\ 6" DIAMETER HOLE— 5 28 DAYS OF 3000 PSI AND A MINIMUM UNIT WEIGHT SEISMIC RESFONSE COEFRIEIENT - €3 = NA
BOOM NUT & WASHER i OF |45 PCF. REINFORCING STEEL SHALL BE NEW BILLET SEISMIC BASE SHEAR - V = N/A
o STEEL DEFORMED BARS CONFORMING TO ASTM AG 5, ANALYSIS - 1 617.5 SIMPLIFIED ANALYSIS PROCEDURE
GRADE GO. 8) A307 ANCHOR BOLTS ¢ WOOD TEMPLATES SHALL E
F‘.G_ = % 3) STRUCTURAL STEEL SHALL CONFORM TO: FURNISHED BY McGEF CORP
e Wide Flange Beams - ASTM A992, Grade 50, Fy = 50 KSI '
’ 9) CANOPY FOUNDATION INSTALLATION:
Fhruchiral Angle and Chiannc SeEaTl IS, Tig= ¢ 1 J CONTRACTOR SHALL DETERMINE VOVHICH FINISHED
® @ © Struetiral Flate - ASTM ASHECRadeb0), Fyas: B0 ol GRADE ELEVATION AT EACH CANOPY COLUMN IS THI
BBP. = = Structural Tubyng = AoTM ASDRS Erade B, fyi= 46 1Sl LOWEST AND ESTABLISH ALL FOUNDATION LOCATIOIS
€. MAINFRAME Structural Pips:- ASTM AS00,Crade 0, Py = 42 5! IN RELATION TO THAT ELEVATION. CONTRACTOR MUST
4) LIGHT GAUGE COLD FORMED SHAPES SHALL CONFORM, (et e Sl i
DETAIL /BcS\ TO ASTM AG53 AND ASTM C-255. ALL MEMBERS SiALL 7O ENSURE FOUNDATION DOES NOT INTERFERE Wt
; BOX INSTALLATION. TOP OF F
e PLEASE REVIEW ALL DRAWINGS, SIGN AND = D SRRt SOX ST Y ACI)\I E?UT R%L“JFNLE%'I;%:ATF’T[HT
REFERENCE— | RETURN FOR FABRICATION OF CANOPY 5) BOLTS SHALL CONFORM TO ASTM A325 FOR BELOW THE PREVIOUSLY DETERMINED LOWEST FINIS{ED
FOOTING DETAIL STRUCTURAL STEEL CONNECTIONS. BOLTS SHALL GRADE ELEVATION.
BE TIGHTENED PER AISC TURN OF THE NUT METHOD.

S ITE CO |) N |T|O N S / RE U E M E NTS 10) STRUCTURAL AND MISCELLANEOUS STEEL SUBJECTE
D Q | R 6) MINIMUM REQUIRED SOIL BEARING PRESSURE OF 2500 PSF TO EXTERIOR EXPOSURE HAS BEEN PRIMED COATED

£ CANOF SIZE [] APPROVED AS SUBMITTED SHALL BE PROVIDED BY THEBGE ONLY. FIELD TOUCH-UP, FINISH PAINTING AND
[] APPROVED WITH NOTED CHANGES 7) DESIEN CRITERIA-: 2907 FLCEIR: SBUIERING CODE W/ 2068 SUFFLEMENTS MAINTENANCE ARE THE RESPONSIBILITY OF THE OWIER.
: . Roof Design Load = 20'7PoF [ 1) FOUNDATIONS (WHERE SHOWN) HAVE BEEN SIZED FOR
| 1.) PROVIDE A DRIVE ACCESSIBLE AREA TO WITHIN 15'—0” FROM THE EDGE OF CANOPY Roof Snow Load (ASCE 7-05):__ GIVEN LOADS AND ALLOWABLE SOIL PRESSURE. THIR
COLUM SPACING ] APPROVED AS SUBMITTED FASCIA INy ORDER TO UNLOAD MATERIALS AND PERFORM WORK. Zoe v e A8 Gkl s e Sl
Snow Exposure Factor- Ce = |.0
COLUMN | FINISH BOTTOM OF IR  PROVED M ARIED CREHCES 2.) FILL ALL COPEN TANK HOLES AND TRENCHES WITHIN 15'—0" FROM THE EDGE OF CANOPY Snow Importance Factor- [o= 1.0 (Category Il OF RECORD SHALL BE NOTIMED PRIOR 0 CONSTRUTION
NO. | GRADE BASEPLATE FASCIA FRROM THE TIME THAT THE STRUCTURE ARRIVES AND UNTIL ERECTION IS COMPLETE. g2 OF FOUNDATIONS FOR THE RESOLUTION OF ANY
[] APPROVED AS SUBMITTED Rl Caclin £ ecE Y CONFLICT. WHERE FOUNDATION DETAIL 1S NOT SHOWN
C—1 F.G. = 0" B.B.P. = TBD SIEAREE [] APPROVED WITH NOTED CHANGES 3.) TRHREE é’SEAéSITE MUST BE GRADED LEVEL WITH NO SWELLS, DITCHES, OR TOPOGRAPHICAL i el | 0 MeGEE CORPORATION AND THEIR ENGINEERS TAKE 10
| RITIES WITHIN 15'—0" FROM THE EDGE OF CANOPY FASCIA. ANY CONCRETE e 5 -
POURED PIPRIOR TO McGEE’S ARRIVAL MUST HAVE HAD AMPLE TIME TO CURE AND BE Wi |mpfr?afffF‘E"C‘QLTE“E‘?SSE:EE;SL I et Eﬁ?EEgTCA?stNggslgrEEETTSbEBBEN[NEC§$§x§ANCE
c—2 | Fe.=0 B.B.P. = TBD SIGNAE (] NUMBER APPROVED AS SUBMITTED ABLE TO € SUPPORT THE WEIGHT OF McGEE’S TRAILERS AND CRANES. Wind Exposure - ' C* ELECTRODES. ALL WELDING SHALL BE PERFORMED
= [] LAYOUT APPROVED AS SUBMITTED 5;’;‘"&”{2‘ LP::;”’”‘Z;SZ%%GJE“GCP' = 0.00 (Open Bldg.) BY AN AWS CERTIFIED WELDER.
] 4.) THE JOB S gTE MUST BE DRY ENOUGH FOR McGEE’S VEHICLES AND PERSONNEL TO e s rotance Fat iR oe o x)
c—38 Il Fe =¢ B.B.P. = TBD (¥PROVED IHIEIRROTED CHARSES PERFORM ' WORK. IF NECESSARY THE GENERAL CONTRACTOR SHOULD LAY GRAVEL IN Semmic Use Grovp- | e
P i EXCESSIVEIELY MUDDY AREAS TO ENSURE ADEQUATE WORK CONDITIONS. Mapped Spectral Response Accelerations At Short Periods - S5 =NJA g - Fa =N/A
D APPROVED AS SUBMITTED Mapped Spectral Response Accelerations At |-Sec. Peried - SI=N/A g - Fv =N/A
| Site Class - N/A
[ ] APPROVED WITH NOTED CHANGES 5.) ES‘SRE?oﬁSSQERSJEME?‘E"R’TELSNDER THE CANOPY TO BE EXCLUSIVELY FOR WORK SPACE Desiqn Speciral Resporse Acceleation At Short Penods - S0, =NA g
' * esign opectral Response Acceleration -oec. Feriod - o5, =N/A 9
D NUMBER APPROVED AS SUBMITTED 6.) REMOVE AlAl | OVERHEAD OBSTRUCTIONS. ZRPMIC RERIEN CATER St
[] LAYOUT APPROVED AS SUBMITTED
] OVED WITH NOTED CHANGES 7.) FORM, SETT, AND POUR FOUNDATIONS PER McGEE'S SITE SPECIFIC APPROVED FOUNDATION LAWRENCE R. PILON/ PROFESSIONAL ENGINEER
APPR PLAN. AL | FORMS SHALL BE REMOVED PRIOR TO McGEE'S ARRIVAL. ALL THREADS 51 MAPLEV%EZ)M; éJ)RI\/SEéFéENN&LJEVQELLE, NY 13132
SHALL BE - i
. FREE FROM DEBRIS AND DUST AND SHALL BE ACCESSIBLE. ELE A T
ELEVATIO FORMS FORWARDED TO GENERAL CONTRACTOR [] 8.) INSTALL AALL ANCHOR BOLTS W/ NUTS. SET AT PROPER ELEVATIONS WITH PR. JOB NO. FINAL JOB NO. DRAWING NO.
P . NO MORE : THAN 1/4” TOLERAN({E. MCGEE 46220 P046220
: CORPORATION | CASH SALES
DATE: 9.) FF’ggV‘lgngTEtagRosRﬁ%\E POWER SOURCE (110 VOLTS) WITHIN 100 FEET OF THE STRUCTURE 1270 Eost noepencnce | 3554 NORTH 441
A . vd. P.0. Box
NOTE: SINED SALES ORDER, APPROVAL DRAWINGS, AND A COMPLETED otihews, NC 261001375 SCELJEAKE C}TY, FL (COLUMBIA) .
ELEVATIO FORM MUST BE RECEIVED AT LEAST 3 WEEKS PRIOR TO DELIVERY 10.) OBTAIN ALLL REQUIRED PERMITS FROM LOCAL AUTHORITIES AND ARRANGE ALL LOCAL INSPECTIONS. G e e I T O poiw 8%_CAD
OF ANY ANOPY MATERIALS. : A ]
\ REQUESTED DELIVERY DAIE: 11.) VERIFY ALlL| EXISTING CONDITIONS AND DIMENSIONS. ANY DEVIATIONS FROM THESE These prints are the METAL CANOPY 26'-0" x 54 —5"
R Yy T EESHVE'%(TBSES DUE TO FIELD CONDITIONS SHALL BE BROUGHT TO THE ATTENTION OF THE B
== ENGINEER FOR MODIFICATIONS. prohibited without written SHEET NO.
e FOUNDATION PLAN TRy

U] R .

R HEE B e e

(USSR R I e



53'-8" B
JEAM LENGTH)
26'-0"
. g g (FASCIA) il
= A = =
- PLACES \ — 4
| | _ \ | | | 3 ) 10.1/2" jignge . 5 13-0" 13-0"
] t T— . — > \ ] 19/2" 11/2” " I
; // ETAL /AP0 \ 20 |8 b [z R CL|coL
3 PLACES \_—
- BM—3 W12x19 m A \—J \ I ]: N | Bl 2 |
: N \/ DETAIL TC24
: DETAL /PH28 < -4 Al o SCACES N =
0 o 9 PLAcEs \ —/ N 3 2 ’al-_. ) 4 & + P | N ol DETAL _ /‘c-1 DETAL /G519
Irs - N % . o =L =
@ o : . DRAN & 1" CONDUIT : s o \ / >_< 3 PLaces \ —/
& LOCATION TO BE DETERM = DETAIL DC14 A
t % E - \ [ j U l[h & ) / .
¥+ |2 s
Ll B 3 o 1 =2 i » o) — , .
T3 s _] > ? [ ’6/"% { }\i‘{ { N I o I K!é & l = . \ -
‘D < T U ( - a » ] ” ] »
N -é ’é %J BM—3 Wi2x19 A | PL 3/4 Xx 1—-6 x 2-6" LG. £°8 PVC DRAIN ]_EADERj DETAIL @ = g{dNECO SAPPHIRE BLUE FAICIA
" o LL SIDES OF CANOPY
o . L w/ 4"x3" PVC REDUCER 3 PLACES \?/
5 © CL (8) 11/16"¢ HOLES. ALONG W/ w/ STRAPS & 7" DEEP pETAL /702
= : ¥ - . (8) 5/8"8 x2—1/2"LG. A-325 BOLTS W/ FLAT COVERS. =
— N ”
) = ?:L (8) 5/8” HEX. NUTS & (16) I.D. WASHERS é{ DETAIL D11
? y o =
o _ < 1 1 8- 5 : olel DETAIL FD12
2 BM—3 W12x19 o & : [ . 1 w b T
L] LL] ! S M
L =8
! \ — s i TYP. Ll 3
1 i v \ = : i = ; . . 1/4 | (TYP) INSPECTION PLATE 48"
] N s ABOVE FINISHED GRADE
= 7% x\\—3/4 x8"x9” GUSSET (TYP)
L3 ] * " S
E 9'—6" CL|OTLOW 9™ N 9'~6 GHIOELONIR 95 - - S Y STEEL PIPE
| 1
— 20 GA. BRONZE EMBOSSED G
3'—8"CL|coL 19'-0" cL|col 19'-0" CL|coL 118" GRAND SPAN 16.0" STEEL Dsfgékm'gu”'z
- - - s 3 41 PANELS @ 24'-11" T
1 EXTRA PANEL INCLUDED IN y AgOVE QTY D E T AI £ C24
: g 6 1/2" | .032 ALUMINUM GUTTER SYSTirry
(O£ o oo Tl MAIN FRAME DETAIL
. INSTALLED ON BOTH SIDES OFpr THg " ”
54'—4 3/4" PURLIN. 6 6
(OUT TOUT OF OUTRIGGERS) e Lﬁﬁ.ﬁj,{ja"?ﬁ%‘:‘” : I : CANOPY TO HAVE _BELOW_ GROUND DRAINAGE SYSTEM with
FLAT SIDE OF DECK PAN. (ININDICATED n 1 3" PVC INTERNAL DRAINS. SEE ROOF PLAN FOR DIRECTIONS.
54'—5"
(FASCIA) b/ W
CANOP ROOF PIAN /4 N J
DETAL __/CP2)\ /4 V \ |
I 0 - K3 W N DETAIL cP3 T L \
, & AN = 1/ PL 3/8” (N.S. & F.S.)
o 4 V L
T B il m 17 ¢ COL.
uw
O O O
DAL SGS
REV 01/12/05 U_
fe)
i
[1 0]
: |
e O O O
© |< i
g
5 ANCHOR BOLT SHIPPING REQUIREMENTS
*m
ANCHOR BOLT USE BOLT DESCRIPTION WUANTITY
- BCS BASE PLATE (3 PLACES) 1"¢ x 36" LONG HEX HEADED BOLTS 24
\ /) O :
J $ HARDWARE LIST BREAK—DOWN (REFERENCE ONLY)
L L LL]
o
. ITEM USE (# OF PLACES FOR CHECKING ONLY
| K / ' / ' TC24—TOP PLATE (3 PLACES) 5/8" x 2—1/2" BOLTS w/ NUTS & WASHERS 24
r —_— . ”n -
! 3/58 ; LFg gT'FT‘;EP":EﬁL L Jr PH24—CONNECTION (9 PLACES) 5/8" x 2-1/2" BOLTS w/ NUTS & WASHERS 36
3 » . " ’ " L " (ANY BEA AN ] ! N o " - »
" 13-2 1/2 e . A T4 | 7oz MM OVER 16” HIGH) i "‘T"] | G 5/l o AP1—CONNECTION (3 PLACES) 5/8" x 2—1/2" BOLTS w/ NUTS & WASHERS 6
174" PLS STIFFENER SR O Sn e s CANOPY SHIPPING STEEL HARDWARE MANIFEST
54'-5" o e TP & (4) 5/8" 1.D. WASHERS QUANTITY | PULLED | CHECKED LOADED
(FASCIA) - W MAIN FRAME QUANTITY DESCRIPTION SHIPPED |  BY By |TRALER 4§ —gy
72 | 5/8" x 2-1/2" BOLTS w/ NUTS & WASHERS
CANOPY LIGHTINC LAYOUT - \{(ﬁ\_ Ny y SORON 72 | 5/8" DTl SQUIRTER WASHERS
5/8"¢ x 2 1/2" LG. TOP BASE PLAT W/S & ENT
- 5 W/ (4) $5/8” HEX. NUTS S TR e
\ ™ & (8) 55/8” 1.D. WASHERS \—J e
E 1 BM—2 W14x30 (20'—0"
\ ’> — 3 BM—3 W12x19 (53'-8")
%. i 1 BM—4 3x3x3/16"L (20'-0")
3" DECK PANEL — (4) 11/116"¢ HOLES 3 coL 1,2,3, 16" PIPE w/ 1/4" WALL
| y 42 | SIDE OUTRIGGERS SPACED @ 32" O.C.
| 22 | END OUTRIGGERS SPACED @ 32" O.C.
& 1-LOT | HARDWARE
e e = LAWRENCE R. PILON/ PROFESSIONAL ENGINEER
91 MAPLEVIEW DRIVE/PENNELLWILLE, NY 1313¢
ERECTION NOTES: (315) 668—0039
/ : REVIEW PLANS & DETAILS PRIOR TO INSTALLATION. FLORIDA LICENSE # 50922
PURLIN = , PR. JOB NO. FINAL JOB NO. DRAWING NO.
ot /2 INSTALL BEAMS ACCORDING TO MARKED END #S ON ROOF PLAN. Mc GEE 46220 PO46220A
BEAM OVERHANG IS 4” LONGER ON RIGHT HAND END OF CANOPY. CASH SALES
IF APPLICABLE, SAME APPLIES FOR BEAM OVERHANG AT TEE. CORPORATION
THIS IS TO ALLOW FOR DECK PANEL GROWTH. 12701 Eost Independence | 3004 NORTH 441
vd. P.O. X
DETAIL H2 INSTALL DECK PANELS FROM LEFT TO RIGHT ON MAIN CANOPY , IF | watinews, no 28106-1375 | LAKE CITY, FL (COLUMBIA)
APPLICABLE SAME APPLIES FOR TEE. Phone: (704) 882-1500  IsCAlE: 3 /16=1'-0 IN ACCORDANCE DRAWN BY: CAO
REV 09-21-98 —_— Watts: (800) 526-5589 :
\_/ SEE ROOF PLAN FOR PROPER SLOPE AND HOW SLOPE IS ACQUIRED. ot E § DATE: _ 2/23/2010 WITH REV. LETTER: _____ CHK'D BY:
SEE FASCIA DETAILS WHICH ALSO REFERS BACK TO GENERAL NOTES | These prints are th ) ” ’ L
\ FOR OUTRIGGER SPACINGS. T et [PMETAL CANOPY 26 —0 x 54 —5
CAD FILE NO./PLOT SCALE *BP FASCIA ONLY* START FASCIA AT LEFT END — SEE DIMENSION Effrfﬁ?f'ecfmtﬁéuieifﬁthn SHEET NO.
L FOR LOCATION OF FIRST T4 PANEL. permission. ROOF PLAN & DETAILS e e 1Y

THUCEER R O T, B TR T e L .



STRUCTURAL JOINT BOLTING METHOD 1: STRUCTURAL JOINT BOLTING METHOD 2:
85 JURN OF NUT METHOD: BOLTS SHALL BE INSTALLED IN ALL HOLES OF THE CONNECTION AND BROUGHT TO A "SQUIRTER"DTI METHOD: "SQUIRTER” DTI WASHERS SHALL BE AS SUPPLIED BY APPLIED BOLTING TECHNOOGY,
) SNUG—TIGHT CONDITION. SNUG TIGHT IS DEFINED AS THE TIGHTNESS THAT EXISTS WHEN THE PLIES OF THE JOINT 1430 ROCKINGHAM ROAD, BELLOWS FALLS, VT. BOLTS SHALL BE INSTALLED IN ALL HOLES OF THE CONN.CTION
| ¥ NOTE INSTALLERS: ARE IN FIRM CONTACT. THIS MAY BE ATTAINED BY A FEW IMPACTS OF AN IMPACT WRENCH OR THE FULL EFFORT AND BROUGHT TO A SNUG—TIGHT CONDITION. SNUG-TIGHT IS DEFINED AS THE TIGHTNESS THAT EXISTS MEN THE
Y ACM MUST SLOPE OF A MAN USING AN ORDINARY SPUD WRENCH. SNUG TIGHTENING SHALL PROGRESS SYSTEMATICALLY FROM THE PLIES OF THE JOINT ARE IN FIRM CONTACT. THIS MAY BE ATTAINED WITH AN IMPACT WRENCH OR MANUALLY,
X AWAY FROM FASCIA MOST RIGID PART OF THE CONNECTION TO THE FREE EDGES AND THEN THE BOLTS OF THE CONNECTION SHALL MAKING SURE NOT TO FULLY COMPRESS THE DTl ON THE FIRST PASS. ON THE FINAL PASS, THE DT'S HALL BE
A > BE RETIGHTENED IN A SIMILAR SYSTEMATIC MANNER AS NECESSARY UNTIL ALL BOLTS ARE SIMULTANEOUSLY SNUG COMPRESSED FROM THE MOST RIGID POINT IN THE CONNECTION OUTWARD, TIGHTENING EACH BOLT UNTIL THE
#0x3 /4 TEK TIGHT AND THE CONNECTION IS FULLY COMPACTED. FOLLOWING THIS INITIAL OPERATION, ALL BOLTS IN THE ORANGE SILICON APPEARS IN VOLUME FROM THE DTS SQUIRT LOCATIONS. EACH DTl HAS ONE SQUIRT DCATION
il e 08 TONBARIGA. ANGLE Tt CONNECTION SHALL BE TIGHTENED FURTHER BY THE APPLICABLE AMOUNT OF ROTATION SPECIFIED IN THE TABLE. FOR EVERY BUMP. THE NUMBER OF SQUIRTS SHOULD BE AT LEAST EQUAL TO THE NUMBER OF BUMPS IN THE
R R M Wl (10— , M 11/2° x11/2" x11/2" °2" DURING THE TIGHTENING OPERATION, THERE SHALL BE NO ROTATION OF THE PART NOT TURNED BY THE WRENCH. DT MINUS ONE. FOR INSTANCE, A FIVE BUMP DTl SHOULD SQUIRT OUT IN AT LEAST FOUR PLACES. THEDTI
SPACED hdlicncaptibe : / TIGHTENING SHALL PROGRESS SYSTEMATICALLY FROM THE MOST RIGID PART OF THE JOINT TO ITS FREE EDGES. SHALL BE TIGHTENED UNTIL THE SQUIRT VOLUME AND APPEARANCE IS JUST LIKE IT WAS IN THE CALIBRATION
WHEN USING 32 CING. EXERCISE. THEN STOP TIGHTENING. WHEN THERE ARE QUESTIONS IN THE FIELD PERTAINING TO DT BOLT NIGHTNESS
SPACED AT EVERY 3rd OUTRIGGER (12'-0) - DISPOSITION OF OUTER FACE OF BOLTED PARTS A FEELER GAUGE MAY BE USED.
WHEN USING 48" OUTRIGGER SPACING. — iy
SCREW ANGLE TO PURLIN w/ #12-24x1 1/2. (HNDRIS. SIOK No 16 | B R B o SoLLats | Qo EALeS SLOEED NOTMSe: NOTE: AISC REQUIRED BOLT TENSION FOR BOTH METHOD 1 AND 2 HAS BEEN SHOP-TESTED AND CALIBRATED AT
ANGLE ATTACHED FROM OUTRIGGER NEAREST EACH OF HEAD 10 Mpalaedll S R o e (o DERMAL To e McGEE_CORPORATION. BOLTS ARE SHIPPED AND STORED SO THAT THEIR FIELD CONDITION MEETS THE TBTED SHOP
’ PURLIN (SHOWN) AT ENDS OF CANOPY. INSTALLER END OF BOLT) S L'HSEB')LZO (BEVELED WASHER NOT vseDy (BEVELED WASHER NOT CONDITION. McGEE CORPORATION ERECTORS HAVE OBSERVED THE TESTING AND CALIBRATION PROCESS AD ARE
TO FIELD CUT & FIELD BEND END OF ANGLE. 12" LONG BEAD TRAINED FOR THE PROPER INSTALLATION OF THE CONNECTION BOLTS.
/ OF GLUE BESDE_ UP TO AND p 5 ’
OUTRIGGER A INCLUDING 1/3 TURN 1/2 TURN 2/3 TURN =
e | RO IRSTALCATION OG- VERTICAL EXAMPLE TOP |HORIZONTAL E);;::;p:fmm —Ta]
:}UIR:G/G;RQ‘ %Df I b i By FLAT WASHER WASHER BUMP g 2
x18 GA. - = ER HEIGHT |-] METERS BUT -
ALE & 1 1/2" "2 = X =ACM FEGHL|Y = OUTRIGH I | NOT EXCEEDING | 1/2 TURN 2/3 TURN 5/6 TURN DT WASHER z| g
= S > - - 8 DIAMETERS 1 1 HE
? I . = - A) NUT ROTATION IS RELATIVE TO BOLT REGARDLESS OF THE ELEMENT (NUT OR BOLT) BEING TURNED. \ AN FRAVE FLANGE | e
T w 1"-8 8 | FOR BOLTS INSTALLED BY 1/2 TURN AND LESS, THE TOLERANCE SHOULD BE PLUS OR MINUS 30 g
S| | conmnuous = >—0" -0 DEGREES, FOR BOLTS INSTALLED BY 2/3 TURN AND MORE, THE TOLERANCE SHOULD BE PLUS OR | PURUN FLANGE | 2
PURLIN | - SIL-PRUF CAULK S = e 4 MINUS 45 DEGREES. \ | \ R
\ i - B B) APPLICABLE ONLY TO CONNECTIONS IN WHICH ALL MATERIAL WITHIN THE GRIP OF THE BOLT IS STEEL. e e N
'_,_,0" 2._0]' - —
s 1R , -0 e - STEP (1): |0 STEP (2): STEP (3): "SQUIRTER” WASHERS ARE TO BE INSTALLED WITH THE DTI WASHER BUMPS AGAINST THE BOTTOM OF HE
g - —F :f L 48x1/2 SHEET 3-2 22 i ot L A A e ALY REGUNED FLAT WASHERS, SEE EXAMPLE. LUBE THE THREADS AND THE FACE OF THE NUT TO REDUCE TORQUE AD
AL\ F‘ 1-10 1/16" « JU =l / VETAL SCREW 6" »_" S0 THAT NO GAPS BOLT AND STEEL SURFACE TURNS AS GVEN IN THE SAVES TOOL WEAR. COMPRESS THE WASHER SO A .015" FEELER GAGE CANNOT BE INSERTED INTO HiLF
H = # T T L EXST BETWEEN T IN A STRAGHT LINE G TABLE ABOVE. ONE THE GAPS BETWEEN THE BUMPS ALL THE WAY INTO THE BOLT SHANK.
/ [ees & /‘T'_ - " a AT THE BOLT HOLES. THE NUT. THE BOLT HEAD/NUT
)‘ Ay 3_g" 2'—g" AS THE NUT/BOLT  REQUIRE
_/ - Ly HEAD IS TURNED. ROTATION
T Ty DECK SEE DETAIL CP3 —/ % 4£—0" 30"
- - o o B , USING ASTM A325 OR A
© 32° 0.C. (w/ WIND #12x1 TEK w/ NEOPRENE WASHER - o cne oai — e 3—g COPIED FROM AISC SPECIFICATION for STRUCTURAL JOINTS 490 BOLTS
- L
LOARS @190 NP & OVER) JUIED el ! CONNECTION METHOD IS CHOOSEN PER SPECIFIC JOB REQUIREMENTS.
SIDE OUTRIGGER BOTTOM LEG [2’—0" o
TTOM LEG 18'—3"
END OUTRIGGER BO ENCLOSURE .032 ALUM.x1 1/47x1 1/4"x9" LONG ANGLE
USED TO STRENGTHEN ENCLOSURE.
ATTACHED TO ENCLOSURE AND PERIMETER
GUTTER WITH (2) #8x1/2 SHEET METAL 1'-5 1/2" . b
DETAII /FD2 SCREWS. ANGLE LOCATED 24" O.C. 3 i ¥ h
(DECK CUT TYP) B
01-28-05 REV END #8x3/4 MODIFIED TRUSS HEAD ©
(PAINT TO MATCH A.C.M.)
NOTE: APPLY SILPRUF CAULKING TO THE
GUTTER DRAIN LIP & ATTACH TO GUTTER
. e WHILE CAULK IS STILL WET. THIS WILL
1 1@»&5 }\/TZE gY-gdta'ngl};%E%A-(1;t‘%E)— ALLOW CAULKING TO COVER THE SCREW
d e
WHEN USING 48" OUTRIGGER SPACING. THREADS FOR AN APPROPRIATE SEAL.
: e SCREW ANGLE TO PURLIN w/ #12—24x1 1/2.
V2wl 172 3020 LOHG 1REe AHOL " ANGLE ATTACHED FROM OUTRIGGER NEAREST EACH
SPACED AT EVERY 3rd OUTRIGGER (12'-0") 11/2° x11/2° x 1 1/2° °Z° | PURLIN (SHOWN) AT ENDS OF CANOPY. INSTALLER
WHEN USING 48" OUTRIGGER SPACING. i TO FIELD CUT & FIELD BEND END OF ANGLE. 1 1/2* x 1 1/2° x 1 1/2" *2" | ——
SCREW ANGLE TO PURLIN w/ #12—-24x1 1/2. = ANGLE NOT SHOWN FIELD CUT HOLE IN >
ANGLE ATTACHED FROM OUTRIGGER NEAREST EACH PRE—FABRICATED e "0 e PERIMETER GUTTER RUBBER PIPE SLEEVE
PURLIN (SHOWN) AT ENDS OF CANOPY. INSTAL OUTRIGGER MADE - l = BRE_FABRIGATED L | ’
TO FIELD CUT & FIELD BEND END OF ANGLE. /1 1/2'18 GA. ANGLE . _\_ | SIGN BOX B' 2“;25.0%'::2_5(3‘:, o OUTRIGGER MADE EAN i [OUTRIGGER NOT SHOWN] DECKING
AND 11/27°Z HAT OTHERS LOADS © 100 MPH & OVER)|  w/ 1 1/2"x18 GA. ANGLE > - SIGN BOYoy gy !
AHBET S HATS| /| OTHERS ; i i \ - PVC DRAIN LEADEF
e FROM TOP SIDE OF / f
CANOPY APPLY SILPRUF |

/}/ CAULK TO ALL GUTTER

< BOTTOM SCREW | H
FIELD SCRIBE & N PENETRATIONS \ ) /
FIELD CUT TO FIT \\U ;

;\D/
KILLOUT COR T ¥ ENCLOSURE _<') /X DRAIN LEADER COVR
8
o

P

OUTRIGGERS SPACED
@ 32”7 0.C. (w/ WIND #0x1/2 TEK
LOADS @ 100 MPH & OVER)

o .
| 4
w & o 4 °
g #1033 /4 TEK

HAT
" SPACE "
[ o #10x1 /2 TEK yﬂ o Ccin 0 8

L]
== ¢!

1’_&‘ =

l - Lo » » -
1§ V)?1 172 %1 1/2 d 1 5 3-9 ,*I
ANG . - o
- > ; #8x1/2 SET < M1 1/2" x 1.1/ a
—— kg T a i 0 METAL SEW ANGLE . 3
= il Lz fesin 2] DETAIL (C-1

USE COSMETIC CAULKING
AROUND EDGE FOR CLAMPS
\SE oy, FINISHING TRIM

V.

.{ R MQUT}ET Ay PLASTIC DRAIN LEADER
) 3 7/8"
| . U i et i 7-11-06 — CapeTeR JO AR g PERIMETER GUTTER /' /ACHMENT
T = | e , e Ay
Ay ) T =f. 'z 2'~0” RADIUS CORNER Sy
#12x1 TEK w/ NEOPRENE WASHER < . [1mxa/2mam1/2 \ A N w/ 6 1/2" BUILD—OUT RS
[~ - |"z #12x1 TEK w/ NEOPRENE WASHER % 0/ ne 12 T
1/2° COSMETIC CAULK -
ey 3/4" 1 1/2" COSETIC CAULK -~ . = D E T AIL C14
; A T~—REGC. TRI42 © — o ey 3/4" ¥ 1 L3
) i 0,/ SIEGN ARS ONLY . _——H‘_ == SIN REV. 05-19-97 P
11/2" | 3/4 6+ 6 1/2" USE HEMD TRIM 42 n ) ¢ ’ I;!Eg‘ 3. TRM 42 ©
| Gason a7 e WHERE M GOES ' /2" o 3/4 %6 6 1/2" ucE B AREAS G s
2 DETAIL DI - H - “HERERE 'ACH GOES
6 <Y = : > -1
M= SIDE o $ 5 DETAIL D1«
T | 12-14-98 SIDE
TTER _PROFILE FOR SIGN O i PERIMETER GUTTER O’FLOW CUTOUT (SHOWNJ
SUNOCO GU " P
NOTCH 2°x 6 3/4" HOLE
SUNOCO GUTTER PROFILE FOR SIGN IN GUTTER AS SHOWN \
See roof plan for locations ’
gn canopy 2
W MAIN FRAME SQUEEZE SLIGHTLY | N
/_/ Fﬁ CENTER GUTTER O'FLOW CUTOUT ~ TO POSITION THIS g T \3/4
{ ‘ NOTCH 2°x 6 3/4” HOLE IN SLOT i /3/
4 IN GUTTER AS SHOWN 1
W PURLIN y ALTERNATE DIRECTION OF CUT OUT
XQ\ AND OVERFLOW IF MORE THAN
™ 11 GA. STEEL 2) OVERFLOWS ARE PRESENT
BEAM CLIP Y eY LES o See roof plan for locations
\é i 1 5 = = on canopy.
’ —} T T E a e OVERFLOW_INSTALLATION
e —
? e N L PURLIN BEAM PURLIN BEAM vt %
! Fd 3 INSERT (1) FLANGE AND BEND JUST ENOUGH
/ I . TO GET OTHER SIDE IN.
S LOCK NUT 3 5/8"x20 GA. CONT. DRYWALL \\ / USE (1) POPRIVET EACH SIDE THEN APPLY
/
STUD USE McGEE BEAM CLIP TO COSMETIC CAULK AROUND EDGES.
g NOTE: MUST CLIP PANELS ON BOTH W DEAN & i 032
y F’T SIDES OF BEAM AS SHOWN. USE #12x1 TEK @ 24" 0.C. TO BEAM CLhyp BEAM CLIP (TYP) \ 'BRE
\ ATTACH TO DECK PANEL. o / / \ [563
| L - DETAIL /HCH

SEE DETAIL CP3 FOR y [
INSTALLATION PROCEDURES 2 1/2" x16 GA. CONT. DRYWALL __|
USED AT 2 1/2" STUD AT STUD USE McGEE BEAM CLIP TO
3rd DECK RIB. ATTACH TO PURLIN BEAM @ /
OPPOSITE SIDE of BEAM DECK CLIP &

USE #12x1 TEK © 24” 0.C. TO

} REV. 1 03—26—02 \T/

= [ .
/—— CLAMPING SURFACE tu;j

\ = X

3 11/32"

1 S =

ATTACH TO DECK PANEL /
(TYP FOR 3rd DECK RIB)

| g?ER% NSG/?:ASEE DOI\?I-_[Y. g
|
/
/
3

NOTE: CANOPY BEAM CLIPS MUST BE
; \ NOTE: CANORY GEAW CLIPS WUST Bt . 5 DECK. EANEL NSpien ool e e / LAWRENCE R. PILON/ PROFESSIONAL ENCINEER
?’fﬁhﬁ?r??oﬁﬂo”ﬁ?ist FOUR(4) / DECK PANEL DECK RIBS ON BOTH ENDS OF THE o1 MAPLEVIEW DRIVE/PENNELLWVILLE, NY 1313

/ \ DECK RIBS ON BOTH ENDS OF THE \\ CANOPY, ALL OTHER LOCATIONS / (315) 668-—0039

o » CANOPY. ALL OTHER LOCATIONS I ALTERNATE SIDES OF PURLIN, UNLESS

PURLIN DECKING BELOW . 23/8 . N ALTERNATE. SDES OF PURLIN, UNLESS "\ [CANOPY IS DOUBLE CLIPPED. 4 FLORIDA LICENSE # 50922
i ANOPY | .,
s DE_VIEW N 7 ~ g PR. JOB NO. FINAL JOB NO. DRAWING NO.
~~ y =8 s MCGEE 46220 P046220B
4 J ’ y .
: 1T 5SS McGEE BIAM CLIP DETAIL e kB T R B
D 121 MATERIAL 11 GAUGPLATE, ASTW AS26 GO (CALVANIZED), START END OF PANELS FINISH END OF PANELS | o tcnamon | 3554 NORTH 441
i ENED C1018-1 Blvd. P.O. Box 1375
SEEMDEC'H\TL (;CTP'I)HE RIGHT Yot RAGR Matthews, N% 28106-1375 LAKE CITY: FL (COLUMNBIA)

McGEE BEAM CLIP INSTALLATION PROCEDU:; SET BEAM CLIP WITH SET SCREW ON TOP OF BEAM /—\ hone. (704) Se2- 100 e N IN_ ACCORDANCE DRAWN BY.__CAO
A HEES: = ; WITH REV. LETTER: 'D BY:
, DETAIIL CP4\ FLANGE AND CLAMPING SURFACE UNDER K RIB. PUSH CLIP AGAINST DECK AND VBE%% AELA%ENMSTEHT DET AH_. CP2 DETAIL @ AT 2/2372010 e
SET SCREW AS FAR ONTO BEAM FLANGE / POSSIBLE. WHILE KEEPING BEAM CL : Y F o 104 N~ — -

\ REY e Hosas U‘— SCREW TO SNUG TIGHT WITHOUT BURROWIN INTO STEEL BEAM FLANGE. THEN PROCEED TO TURN SET R REV. 6 3-12-03 \T/ mess o ae ve | \MRTAT, CANOPY 26'—0" x 54'—5

A Z
SCREW 3/4 TURN (270°). TIGHTEN LOCK NI MAKING SURE THAT BEAM CLIP REMAINS IN POSITION. Reproduction or reuse is ) A V/

SHEET NO.

emasen” | MISC. DETAILS S e D

=

T HIEunee W R TR [ .




	001
	002
	003
	004

